Week 1 Block Day Warm Up

1. Solve and CHECK. .
v 2. Which Property?
2x+1 _x-4 a) —4e——=1
2 4 inverse properﬂy of multiplication
This means plug your answer into the original b) (7 + 3) +4="T+ (3 - 4)
equation and work out both the left and right associative property of multiplication
sides until they look exactly like each other
- c) 8+0=28
2x+1 — x—4 idem‘h‘;)/ property of addition
2 4 3. To which number set(s)

does each belong?

x=—2 Check: o) 36 "oy

wnoe
2(_2) +1 _ (_2) —4 Irra]\tiec?neezl, real
2 4 b) —1.3 rational, real
—4+1 _ -6
2 4 ¢) 0 whole,
3 -3 integer, rational
T =_ real
2 2 d) —3.21221222122221...
irrational, rea
4. Solve for k 5. Solve and graph on a number line
kw = q(4k —x) _4
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